7\ KOVO

= i .L WOALAN WOLLEYRALL

70 7 I -UI Ho o FI | Jé' ﬂ'al j. \v B RATIS R
2019-10-26 17:32

H 19 A7]. E34Y vs HCHHM (1A, 2019.10.26, 16:00~17:25)
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H 19 A7]. E34Y vs HCHHM (1A, 2019.10.26, 16:00~17:25)

s34y vs HOpAY
77 No Block 174
3170 7 17K 1 Block 1671 / 07K
6774 7 771 2 Block 7670 7 47K
178 7 07K 3 Block 17 7 07H
* 227 o8 ¥ AR R/ HE S
> e ME ME Al 4O 2270 02 27|12 bl
s34Y 274 vs AiHd S
- No Block 17 / 07H(00.0%)
1370 /7 67H(46.2%) 1 Block 267l / 137H(50.0%)
557K / 257H(45.5%) 2 Block 537 / 1770(32.1%)
170 / 07H(00.0%) 3 Block 170 / 17H(100.0%)
*SHNE /88 (838
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> SN
RE A= %3 AlZHAL ol& =2
MBS 12(42.9%) 5(17.9%) 3(10.7%) 2(07.1%) 3(10.7%) 3(10.7%)
MEZ2| 23(56.1%) 9(22.0%) 5(12.2%) 1(02.4%) 0(00.0%) 3(07.3%)
oA 35(50.7%) 14(20.3%) 8(11.6%) 3(04.3%) 3(04.3%) 6(08.7%)
*SANE (SHREHE)
> SIhHAA
RE A= %3 AlZHAL ol =2
MIET 2| 13(24.5%) 10(18.9%) 10(18.9%) 0(00.0%) 1(01.9%) 19(35.8%)
MEZ2| 17(60.7%) 7(25.0%) 4(14.3%) 0(00.0%) 0(00.0%) 0(00.0%)
oA 30(37.0%) 17(21.0%) 14(17.3%) 0(00.0%) 1(01.2%) 19(23.5%)
*BANE (BHEEYR)
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H 19 Z7]. E3MY vs HCHHH (2H, 2019.10.26, 16:00~17:25)
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o 2y &3 s b 87l | SHME HHE sus s3 =K sas A%
1 a4y 6 2 1 3 6 4 1.500 243 207 1.174 15
2 GSZHA 3 1 0 1 3 0 - 77 69 1.116 15
3 St 2T A 3 1 1 2 4 3 1333 155 160 0.969 15
4 s Fak= 3 1 1 2 3 4 0.750 148 152 0.974 11
5 IBK7| 28 2 1 1 2 3 5 0.600 162 164 0.988 11
6 KGCRI&tS A 1 0 2 2 3 6 0.500 166 199 0.834 2104
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